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SNTWEY, Tha THEL THFHEICHEZER L TAE LT,

2022 DR DS L KR DReFn 2 KD X
1 ~2022 £ TOHEKRET, 2022& AWNIFHETHD DHEBOMEEZ KD X,
BE  2022=2x3X337 LERENMESNDOT,
FIELOMEEIE, 2X 2 2=8 (f#)
KL OFIE,  (142)(143)(1+337)=4056
2022 & HWMTFH TH DO
1~2022 £ TOHEKRET, kOBEHEOMEEE nk) &ELS L, RO DMEBUT,
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THIE TP RAADOER] 2R/ TUW 5,

22420222 =y% LD HERE (2, y) BRD X,
=L, x>2022 95,
AL T, (y+x)(y—x)=22.32-3372 ...... Q)
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TaRBET DL, $5=6, S,=(x+y)?—2xy=6>—2=34=6
(¥) XV,  8$;=65,—S; =6x6—6=30=2
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S5=6S5,—S; =6X6—2=34=6,
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